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SECTION - I 

Answer any two of the following questions in about 500 words each. 

1. 'India lives in unity in diversitv'-Provide a .sociological analysis of this statement. 	20 

2. Explain the major patterns of selectiiii of spouse as practiced in India. 	 0 

3. Discuss the role of socialization in gender stereotyping in India. 

4. Make a sociological anal\ sis 	regioli.ii politics in contemporary India. 	 20 
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SECTION - II 

Answer any four of the following in about 250 words each. 

5. Analyse the significance of caste in contemporary politics in India. 	 12 

6. Discuss the social background of the Backward classes in India. 	 12 

7. Discuss the various approaches to study ecology. 	 12 

8. Explain the various factors which affect women's work participation in rural India. 	12 

9. Discuss the impact of British rule on class formation in India. 	 12 

10. In what way did commercialisation of agriculture affect the jajmani system ? 
	

12 
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SECTION - III 

Write short notes on the following in about 50 words each. 

11. Permanent settlement 
	

3 

12. Varna System 	 3 

13. Ritual time 	 3 

14. Westernization 	 3 
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